Ki, Mobility
ZIN

(Discontinued) Flip x:panda Caster Arm

é@

o
L'-\_

=
R

EHH &
@l\ 2

o
/C"f

/
| att

GROWTH STRUT

o) |° LENGTH —I
Py {3.
M7 =) |
a7 2 : f? Il £ =
', g F II." al
@H 3 T\ [#TX =
{}- l"|' == - Q\\rE m M
= 3% =T = Used on
=) %) @, Part No. | Width Length
g 26 002637 16" 15.5°
Discontinued 5/1/2024
Item Number Part Number Description Quantity
%8 %%a, 13, 503213 Mechlock Replacement Kit, 45° Right 1
18 %éb 13, 503214 Mechlock Replacement Kit, 45° Left 1
ig Eazélb 502797 Mechlock Replacement Kit, 45° PAIR FLIP 1

08-06-2025



[tem Number  Part Number  Description Quantity
16a, 17a, 26 502653 Caster Attachment Hardware Kit CAT/FCS 1
Caster Attachment Hardware Kit for 6" and 7"
Lo, Lol 28 ) sneen Wide Fork, CAT/FCS 1
7,12a, 25,28 |[502803 Fork Assembly 6" FLIP 1
7, 12b, 25, 28 | 502804 Fork Assembly 6" Wide FLIP 1
7, 12c, 25,28 |502805 Fork Assembly 7" FLIP 1
1,2 503673 Front Frame Tube Weldment w/Adjuster, Flip 1
3 002637 Frame Growth Strut 15.5" 1
7 501208 Caster Stem, Ped Tilt 1
8a 002651 Wear Pad, Caster, Right 1
8b 002652 Wear Pad, Caster, Left 1
9 100746 M6 Flat Washer Blk Zn 1
Not used if transit is present
10 001865 Spacer, Mechlock 1
1lla 001861 Mechlock, 158mm, Right 1
11b 001862 Mechlock, 158mm, Left 1
12a 501210 Caster Fork 6" Flip 1
12b 501211 Caster Fork 6" Wide Flip 1
12c 501212 Caster Fork 7" Flip 1
12d 501213 Caster Fork 7" Wide Flip 1
13 001156 Pivot Bushing Tilt 2
15 000987 Threaded Fastener 1
Caster Spacer D8 x D12 x 10mm / Close Mount
16a 100792 Handrim Spacer 2
Used with all casters except 6x2
Caster Spacer Black 6 x 2 Poly
16D bz 4720DX.319IDX.370LG 2
Only used with 6" x 2" casters
17a 101829 M8 x 65 HHCS BIk Zn 1
17b 101831 M8 x 80 HHCS BIk Zn 1
Used with wide forks
18 101593 M6 x 25 BTN SHCS BLKZC 1

08-06-2025




[tem Number  Part Number  Description Quantity
19 102797 M8 x 65, BHCS, Blk Zn 1
20a 102625 M6 X 30 BHCS BLK zZC 1
Used if transit is not present
20b 101733 M6 x 35 CLS10.9 DIN7991 FSHCS BLKZC 1
Used if transit is present
21 100669 M5 x 10 BTN SHCS BLKZC w/Patch 1
22 102800 M4 x 8mm SHCS Blk Zn 1
23 122589 Pin, Dowel, M5 X 30, DIN6325 2
24 115573 M6 x 25, BHCS, CLS 10.9, NYL, BLZ 1
25 100529 M12 x 1.25mm Lock Nut Black 2
26 100659 M8 Nylock Nut Blk Zn 2
27 100658 M6 Nylock Nut BIk Zn 1
28 100682 Washer 1/2" .518 x .875 x .047 F/W Black Zinc 3
29 102614 M5 Split Lock Washer BLK ZC 1
30 100558 M6 Nyl Ins Domed Cap L/N Zc 1
31 102810 M6 Lockwasher, Hi-Collar, ZC 2
Not used if transit is present
002086 Spacer, .380Dx.24IDx.31LG 1

Used if transit is present - replaces callouts 9 and 31. See
Flip for x:panda Transit page.

08-06-2025




